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Instruction : First 15 minutes are allotted

for the candidates to read the

question paper.
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<1ons compulsory. -
% d to each question

ven 1n the margin.

Note :

In numerical questions, give all

the steps of calculation.

iii) Give relevant answers to the

questions.

iv) Give chemical equations

wherever necessary.
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1. Four alternatives are given in each part

of this question. Select the correct

alternative and write it in your answer-

book :

- a)

D)

A metal lon M 2t after loss of two
electrons in a reaction will have an

oxidation number equal to

1

The%yalency of Cr in [Cr(H2O)4C12]+

10N 18
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iii) 6
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c)

6

The ores that are cbncentrated by

froth flotation method are
i)'  Carbonates
11) Sulphides

i) Oxides

- iv) Phosphates. 1

d) The strong electronegative halogen

748539

1

Substances  which  give  good

conducting solution are called
1) Weak electrolyte

11) Strong electrolyte

111) Non-electrolyte

1v) Catalyst. 1
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1) Trn

<t E @r‘le diamine)

CO nitrate

'ii) hlorotetra aqua chromium
(IlI) nitrate. _ 1

Why do He and Ne not form

compound with fluorine ? 1

Write names and formulae of two

oxide ores of 1ron. 1
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C)

d)

)
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8
Explain negative catalysis by givihg
an example. 1
Write the formulae of the following
compounds :
) Tn (ethylene diamine)
cobalt (III) nitrate
ii) Dichlorotetra aqua chromium

(ITI) nitrate.

r +BrO, +H,0
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3. a)
s)
c)
d)

4. °h)
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- What 1s reduction ? Explain with an

example. I~ 1
Write down the oxidising and
reducing agents in the ionic reaction

Br, + OH” =Br~ +BrO; +H,0. 1

Explain the following properties of

d-block elements :

1)  Electronic configur

i1) Magnetic propekties™”
Explain e‘: @sg of smelting by
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4. a) 'te down structural formulae of
the following  oxyacids of
Phosphorus :

i) Hypophosphoric acid
i) Phosphoric acid

111) Orthophosphoric acid
iv) Pyrophosphoric acid. 2.

. 748539
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Write short notes on the following :
1) Tyndall effect
11) Electrochemical series. 2

Prove that in a first order reaction

the time taken for the comple Qf

\ t of
the initia %@aﬂon 2

Disc tructural 1Isomerism 1n

half the reaction 1s

complex compouﬁds with relevant

examples. | 2
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- Zn+HNO, - Zn(NO,), + NO, + H,0

M) A Gqd W HCl, NaCl ud

CH,COONa a? HII@?T
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shHRT: 380-5, 109-8
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i) Zn2* oAU kS BW & wehw
Cu*F oAt I & 2 1+ 1

748539



b)

748539

13 374(RO)

What do vyou understand by '
emulsion ?l Explain its application in

daily life. ' 2

‘Balance the following reaction :

Zn + HNO, —>Zn(NO +NO, + H,0

he equw‘Eent gductances at
%tlon of HCI, NaCl and

CH,COONa are 380-5, 109-8 and

78'5 units respectively. Calculate
equiiralent conductance at infinite

dilution of acetic acid. 2

[ Turn over



374(RO) 14
- d) 1 What is lanthanide
contraction’' ? Explain its

reason by giving example.
11) Zn“*  salts ‘are white ‘while

Cu?* salts are blue. Why ?

1+1
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6. Derive the expression . for velocity

constant for the first order reaction.

A substance becomes half of its initial

quantity in 100 minutes in a first order

reaction. In what time will it become one

fourth of its initial amount ? 3
OR

- | o Q .
Write down the difference i@:}ls\xl rity

and order of re 1S meant by

Mo

- energy % ®n ? Explain the
Arrheni@s equation. 3
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7. Describe with idiagram the laboratory
method for the preparation of chlorine or
phosphine and also give relevant
chemical equations. Also write the

chemical equations of its any two

\‘Q\

chemlcal properties.
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